
independent SERVICE CENTRE

AIRCRAFT ENGINES

RTX

 

EP

AV

CS

IN

EL

AV

TO

PS

BV

78 1-800-247-9653  •  225 Airport Circle, Corona, CA Prices Subject to Change Without Notice

2 STROKE STARTERS - MOD 503/582

11

13

14

4

1

3

2

5

9

8

7

6

10

12

24

16

15

19
18
17

21

20

22

28
27

9

25

23

26

1 3

4

7

6
5

2

4

10

9

15

8

13

12

11

14

18

17

16

19

ROTAX 503, 582 UL 99/17
ELECTRIC STARTER-SINGLE PARTS,
CONFIGURATION MAGNETO-SIDE
Item
No. Part No Description Qty.

Req. Price

1-26 995-430 SCHRAUBTRIEB-STARTER KPL. 1 $810.84
1-2 866-880 DRIVE HOUSING ASSEMBLY  1 $196.95
3 866-870 ROTOR ASSEMBLY  1 $486.61
4 927-057 THRUST WASHER 15,3/24/1  1 $5.09
5 866-850 OVERRUNNING-CLUTCH DRIVE ASSEMBLY  1 $337.66
6 939-030 SPRING  1 $17.11
7 927-040 STOP COLLAR  1 $36.78
8 845-360 CIRCLIP  1 $4.59
9 850-500 O-RING 62-1,5  2 $11.38

10 866-860 YOKE ASSEMBLY  1 $312.02
11 860-600 VENTING RUBBER  1 $10.99
12 827-600 SHIM  NB  $4.95
15 866-892 CARBON BRUSH WITH SCREW  1 $70.47
16 260-820 ISOLATING BUSHING  1 $9.66
17 230-530 O-RING 6X1,7  1 $2.97
18 260-800 CONNECTOR SHEATH  1 $8.30
19 242-780 COMBINED NUT M6  1 $4.06

20-22 866-890 BRUSH HOLDER WITH SPRINGS  1 $70.47
23 841-860 SCREW M5  2 $19.76
24 945-750 LOCK WASHER A5  2 $0.14
25 827-800 WASHER A 5,5 DIN 6902  2 $5.99
26 850-510 O-RING 4,7X1,4  2 $5.95
27 945-751 LOCK WASHER A6 DIN 128  1 $0.21
28 242-211 HEX.NUT M6  1 $0.41

Items not illustrated 
a	 bushing, not available as spare part, use drive housing assy. 866-880.
b	 end frame with sleeve, not available as spare part, use end frame assy. 866-900.
c	 bushing, not available as spare part, use drive housing assy. 866-900.
d	 brush, not available as spare part, use brush holder assy. 866-890.
e	 spring, not available as spare part, use brush holder assy. 866-890.

ROTAX 503, 582 UL 99/17 
ELECTRIC STARTER-SINGLE PARTS,
“E” GEARBOX
Item
No. Part No Description Qty.

 Req. Price

1-18 293-153 ELECTRIC STARTER ASSEMBLY SUPPORT 1 $853.72
2 250-140 O-RING DIN 3771-24,4X3,1-N NBR70 1 $7.14
3 250-130 OIL SEAL 15X24X5 NBR 1 $22.90
4 850-500 O-RING 62-1,5 2 $11.38
6 827-600 SHIM NB $4.95
9 264-184 CARBON BRUSH ASSEMBLY 1 $110.04

10 260-810 CONNECTOR SHEATH 1 $9.66
11 230-530 O-RING 6X1.7 1 $2.97
12 260-800 CONNECTOR SHEATH 1 $8.30
13 242-780 COMBINED NUT M6 1 $4.06

14-16 866-891 BRUSH HOLDER WITH SPRING 1 $70.47
18 850-510 O-RING 4.7X1.4 2 $5.95
19 232-260 B. BEARING R6002 Z 1 $28.05

Items not illustrated 
a	 brush, not available as spare part, use brush holder assy. 866-891

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/995-430.php
https://www.cps-parts.com/catalog/pnpages/866-880.php
https://www.cps-parts.com/catalog/pnpages/866-870.php
https://www.cps-parts.com/catalog/pnpages/927-057.php
https://www.cps-parts.com/catalog/pnpages/866-850.php
https://www.cps-parts.com/catalog/pnpages/939-030.php
https://www.cps-parts.com/catalog/pnpages/927-040.php
https://www.cps-parts.com/catalog/pnpages/845-360.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/62-1.php
https://www.cps-parts.com/catalog/pnpages/866-860.php
https://www.cps-parts.com/catalog/pnpages/860-600.php
https://www.cps-parts.com/catalog/pnpages/827-600.php
https://www.cps-parts.com/catalog/pnpages/866-892.php
https://www.cps-parts.com/catalog/pnpages/260-820.php
https://www.cps-parts.com/catalog/pnpages/230-530.php
https://www.cps-parts.com/catalog/pnpages/260-800.php
https://www.cps-parts.com/catalog/pnpages/242-780.php
https://www.cps-parts.com/catalog/pnpages/20-22.php
https://www.cps-parts.com/catalog/pnpages/866-890.php
https://www.cps-parts.com/catalog/pnpages/841-860.php
https://www.cps-parts.com/catalog/pnpages/945-750.php
https://www.cps-parts.com/catalog/pnpages/827-800.php
https://www.cps-parts.com/catalog/pnpages/850-510.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/242-211.php
https://www.cps-parts.com/catalog/pnpages/866-880.php
https://www.cps-parts.com/catalog/pnpages/866-900.php
https://www.cps-parts.com/catalog/pnpages/866-900.php
https://www.cps-parts.com/catalog/pnpages/866-890.php
https://www.cps-parts.com/catalog/pnpages/866-890.php
https://www.cps-parts.com/catalog/pnpages/293-153.php
https://www.cps-parts.com/catalog/pnpages/250-140.php
https://www.cps-parts.com/catalog/pnpages/250-130.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/62-1.php
https://www.cps-parts.com/catalog/pnpages/827-600.php
https://www.cps-parts.com/catalog/pnpages/264-184.php
https://www.cps-parts.com/catalog/pnpages/260-810.php
https://www.cps-parts.com/catalog/pnpages/230-530.php
https://www.cps-parts.com/catalog/pnpages/260-800.php
https://www.cps-parts.com/catalog/pnpages/242-780.php
https://www.cps-parts.com/catalog/pnpages/14-16.php
https://www.cps-parts.com/catalog/pnpages/866-891.php
https://www.cps-parts.com/catalog/pnpages/850-510.php
https://www.cps-parts.com/catalog/pnpages/232-260.php
https://www.cps-parts.com/catalog/pnpages/866-891.php
https://www.cps-parts.com/catalog/pnpages/866-891.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/927-040.php
https://www.cps-parts.com/catalog/pnpages/866-860.php
https://www.cps-parts.com/catalog/pnpages/866-880.php
https://www.cps-parts.com/catalog/pnpages/860-600.php
https://www.cps-parts.com/catalog/pnpages/939-030.php
https://www.cps-parts.com/catalog/pnpages/866-870.php
https://www.cps-parts.com/catalog/pnpages/845-360.php
https://www.cps-parts.com/catalog/pnpages/927-057.php
https://www.cps-parts.com/catalog/pnpages/827-600.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/866-890.php
https://www.cps-parts.com/catalog/pnpages/250-130.php
https://www.cps-parts.com/catalog/pnpages/827-600.php
https://www.cps-parts.com/catalog/pnpages/250-140.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/866-880.php
https://www.cps-parts.com/catalog/pnpages/242-211.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/827-800.php
https://www.cps-parts.com/catalog/pnpages/827-800.php
https://www.cps-parts.com/catalog/pnpages/850-510.php
https://www.cps-parts.com/catalog/pnpages/850-510.php
https://www.cps-parts.com/catalog/pnpages/945-750.php
https://www.cps-parts.com/catalog/pnpages/945-750.php
https://www.cps-parts.com/catalog/pnpages/230-530.php
https://www.cps-parts.com/catalog/pnpages/850-510.php
https://www.cps-parts.com/catalog/pnpages/850-510.php
https://www.cps-parts.com/catalog/pnpages/242-780.php
https://www.cps-parts.com/catalog/pnpages/260-800.php
https://www.cps-parts.com/catalog/pnpages/260-820.php
https://www.cps-parts.com/catalog/pnpages/841-860.php
https://www.cps-parts.com/catalog/pnpages/841-860.php
https://www.cps-parts.com/catalog/pnpages/866-890.php
https://www.cps-parts.com/catalog/pnpages/866-890.php
https://www.cps-parts.com/catalog/pnpages/866-892.php
https://www.cps-parts.com/catalog/pnpages/242-780.php
https://www.cps-parts.com/catalog/pnpages/260-800.php
https://www.cps-parts.com/catalog/pnpages/260-810.php
https://www.cps-parts.com/catalog/pnpages/230-530.php
https://www.cps-parts.com/catalog/pnpages/264-184.php
https://www.cps-parts.com/catalog/pnpages/866-850.php

